
 

  

Problems on least squares method  
 
1) Find the polynomials  и  by the least squared method with the data tables: *

1P *
2P

a) 
 
x -2 -1 0 1 2 3 
y -4 15 1 10 7 6 

Answer:  
        82;

3
16 2*

2
*

1 ++−=+= xxPxP

    
б) 
 x -3 -2 -1 0 1 2 3 

y 7 4 -1 1 5 6 13 

Answer:   
        1;5 2*

2
*

1 ++=+= xxPxP
 

 
 

2) The function )sin( xy π=  is tabulated in the nodes   ±1,  ±1/2  and 0.  Construct the 
polynomial   by the least square method for the derived matrix.   *

3P

Answer:  )(
3
8 3*

3 xxP −= .  

 
3) After preliminarily transformation find the specified polynomial below for the given 

data table using the least square method  

a) bxaeP +=   for:   x -1 0 1 
  y e2 e3 е4

Answer:  3* += xeP

   
b) 

x
baP +=  , x 1 2 4 5 10 

y 2 1,5 1,25 1,2 1,1 Answer: 
x

P 11* +=  

 

4) By using the least square method solve the predeterminate systems  

а) 
52
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3
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yx
yx

yx
,      b)  
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1
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   ,     c) 

1
1

1
1
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 ,     d) 

53
73

2,02
3

=+
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=−
=+

yx
yx
yx
yx

 . 

Answer: а)       b) ;77,1,37,1 ≈≈ yx ;
7
3

=== zyx  

c) ;0== yx                d) 968,1,037,1 ≈≈ yx . 
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